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Spring Final Group Test Name: KEM 57 20 or % 5/ / 2/
* [1. [ Combining | a) (5x2 +2x +4)+(@x* +x-3) | b) (Bx* +2x +4)—(2x% + x=3)
" Like Terms 2
Tx +3x+( 2 e xt 7
[ y \
2. | Order of a) 4+2(3-2)2+3-8+5 b) 7(x —3) ¢) @){{- :LZX”Z)
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— 25
3. | Evaluation |ga) 2x%-3x+5 for x =3 a) x?-2x+1for x=-3
/L_/ |G -
4. | Multiply | a) (x +3)(x +2) b) Bm+2)m+1)
binomials 9 > i
x4t oxtC I tSmt 2
5. | Factor a) XZ +6x+8 b) lexz_ ’7—)(
C?(fl)(?wﬁ 77((?)“—/) i
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) T 449 d) Zx%+=w-3 %G
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6. Simplify (Laws of exponents) 7. Simplify Radicals
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Solving ;')2(X+3)=5.6 b) IX—2-2x=x-6
equations — 2_7< - =56 - .
-té t e —J;:Zf)«&%
. 5. _ L
. = (2 g
== g x o= A
Z- -3 x=-2
c) (X»’L)(X?Z)::(X"Z)L ((_x_.—- 16 = 7)7
' 3
%"%—”/fi 4x 7
_ -30= 21
sl a2 =9/
Systems of a) Solve: Alrtares Frvm Socra mkf
equations y=x—-1and y=-2x+5 b) 7‘55&” Decc Cost #/gc
o i busipess claSs and Hr120
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X+ 3-:@]—-7' *2"?“5; 150 (~c +52) +{20¢ = 7269
e _ /5@ (20c < 72E7
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10. | Linear a) Find slope: (2, -4) and (-2, -3) b) Find y-intercept 345y = 435
Equations | - o o "2 ol
M:z Z' = Y (‘{):—-"‘7( J—}(:‘ I tYT
% e it (2.9) -
y" - (/ 4 )t 4 ;
c) Find x-intercept ¢) Find the equation of the line with a
3x:!_- ; =__45 slope of "2 through the point (8, -1)
3 < -J&Hfo —l=-2)th .
- g =f & - t+5
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11. | Graphing e) Find the equation of the line f) Graph the following equation:
Linear through the two points: —3x+2y=12
Equations (2, 8) and (6, 6) 2, = Jxtiz
- a 7
m = = J:-: ~$:—)~—L /‘27(#6 ﬂ
=L :
' A
?’ 5= 30)td by
=0 | 7
% - é: e 4 - 4 PGS -
| 7
/ f
L Y
12. | Use the - a) X*+7x+5=0 b) X2 —4x-1=0
quadratic
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14. Quadr?‘ég : ' B T
Equat15ns a) Find the roots (x-intercepts) | : W\
y=x*-2x-8 =& J
PRICEICaR ‘>< T %
=2
i
A~ tnfs (-’,/1 @) (,.1/ o) &
\ /
, - I
T afr xed < ( >
[dentify Hhe vertol, an ?L
F= 1=20)F = -5 \\ HW P
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3x(x +1)
=3x+5 =x%416 2AR T _4Y
y=3x+ _ y=x"+6x+9 XX i) 7 +5(10 - 4)
Using the above, give an example of:
15. A variable: QC | 20. A constant term: 5~/ L

: , 2> jineer - -
16. Anexponent: _2 (GJ /n X 21. An equation: U% c Dot 5 |
2
17. A coefficient: < 3 X) 22. A quadratic: /cq - - (ox * ?
18. A term: JZ 23. An expression: 77‘15' / F i 7)

R

19. A factor: ___ [ X > 24. Which of the above, when graphed would be a parabola?
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Sequences | Generate the first four terms of sequence for the Write the equation for each sequence
Sy equation given: x O
M ' e, 64356, 1024
—2 (4™) = t(n)
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Isita Is (5,7) a solution to the system 2x +y = 17 21 )4y =17 35 lq
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